[1G6G-12-Q14mx4m







GG-L2-Q1 4 m x4 m

\/ \




[1G6G-12-Q14mx4m

34510
/=)
Q
24511 [ XXX
39524 ﬁé’
\t}
35260
b
35261 $‘1
&)
39525 @
(TR
/Y
39526 " N
QBY,
34513
34514 =
34515




[1G6G-12-Q14mx4m

34516 1 5
 — —

34517 = — g

34518 G sg

39527 y____/__——-——"/——-—""-—-"

39528 /FE

39529 f@

39530 =
39531 =
39532 E
34519
34520
34521
—
34522
/=]
39533 ‘-"
;
39534 |
39535 C O )

7
§
\N




[1G6G-12-Q14mx4m

34523 T = = —
34524 T = = —
\ a }
34525 |
||I|
I ‘
34526 |‘ ‘

[N

il

;

34529

N




[1G6G-12-Q14mx4m

(04Y
35085 M6 15 mm 8
35087 M6 15 mm 145
35578 M6 15 mm 40
35089 M6 35 mm 8
39043 M6 40 mm 8
35143 2
35137 M10 80 mm 8
35144 M6 ¢ 2
35145 ( 1
35146 O 1
35088 M6 72

-

35086 M6 241
39423 M6 @ 101
35154 M6 @ 48
35093 @) 48




[1G6G-12-Q14mx4m

@)

3600mm

3600mm

3200mm

3200mm




[1G6G-12-Q14mx4m

I

34510

J




[1G6G-12-Q14mx4m

O

| ®O

34511 34512 39043 35086 35088 35154

34512

35087 35086
N 35260 35680 = ==
34524
LA
: ! £ 35260 ! !
34523

34524

B T3s087
= [ ~ 35086
35260 ;ﬁ; ﬁggg:é
: . 135680"
34523/ 34524 | / i — 2\

= = — [ | I \

10



[1G6G-12-Q14mx4m

)

11



[1G6G-12-Q14mx4m

{:39423 M6x15 35087 35086 35088

(e || @ g_yé, e

39536

=

£
35088 Gy @
e =
‘@/

35086 €
o %
35087

39423 @

39524

12



[1G6G-12-Q14mx4m

ey A=

35261

/

] N
| ® ©

[35578 35086 35088 35154/

34513

34513

13



[1G6G-12-Q14mx4m

&) m | 00

M6x15 35578 35086 35088 35154

34513

35578 |
@

35086 (@

35088

35154 &3

14




[1G6G-12-Q14mx4m

o)

34515

ML
\_ 39423 M6x15 35087 35086 j

34515

34515 lA‘ 34515

7D

—_— .

8 35087
& 39423

® 35086

15



[1G6G-12-Q14mx4m

T
34513 /// z \\



[1G6G-12-Q14mx4m




[1G6G-12-Q14mx4m

H

39423 M6x15 35087 35086

34514

| ® ©

35578 35086 35088 35154

/L
34514 34514
39536

34514 34514

O Y]

o o

wn LN

[*))] D

o o
34514 39536 34514

34514 34514

39536

<(} 35578

¢
o
N
35086 @

35088 ¢y
35154 &

18



[1G6G-12-Q14mx4m

i, || 00T T || T ) I

- 34530 34525 34526 34527 34528 34526 34529

Diese Seite muss
nach aulen zeigen
Install with this
side facing up

Exposer ce coté a
I'extérieur, face au

19



[1G6G-12-Q14mx4m

34530

20



[1G6G-12-Q14mx4m







[1G6G-12-Q14mx4m




[1G6G-12-Q14mx4m




[1G6G-12-Q14mx4m







[1G6G-12-Q14mx4m

\
—)
39530

—9
39531

0|
39532 )

~
i H @

35578 35086 35088 35154/

39529 9528

39532

9527

/ 395237\— 39529 3952
7 .
39530/\_ 39532 39531

Al 39530
39532

39530

-- =

27



[1G6G-12-Q14mx4m

@

28




[16G-12-Q14mx4m

.
KOS

SRS A /N
— NA__/

) G VAL VAN VA

s == s=AlNA " A D,
——

29



[1G6G-12-Q14mx4m




TOOLPORT GmbH ¢ Gutenbergring 1-5 ¢ 22848 Norderstedt ¢ GERMANY
Telefon +49 (0)40 /60 87 27 17 » Fax +49 (0)40 / 60 87 27 37 « www.toolport.de




